Name Jr@/}

Date v Block

This review should be used as a guide only when preparing to sit for the Algebra 2 Trigonometry Final
Exam as it represents the topics which will be tested. It is not, however, comprehensive. Notes
and work completed throughout the course should also be reviewed and studied.

Define and give one example of each: 12.  relation
1. commutative property 13.  function
2. associative property 14.  horizontal line
3. distributive property 15.  vertical line
4. identity property 16.  slopes of parallel lines
5. inverse property 17.  slopes of perpendicular lines
6. integer 18.  slope-intercept form of a line
7. whole number 19.  point-slope form of a line
8. rational number 20.  x-intercept of aline
9, irrational number 21.  y-intercept of a line
10. domain . 22. the ten function families: name, function,
11.  range shape of graph & domain and range of each
Complete the following:
23.  Evaluate: 6-3[2e 3= (18 - 20)+ 6] - - 33.  Solve: 3x+2y=3 (—\,2)
4x - 3y =-13
24.  Evaluate: (z-y)*+22° ify=-3
and z = -5 = ~ S8 l 34, Solve: 2x+3y-z=6 e 3
= S -2,3-1!)
X+2y-3z=7 ( Z, )
25.  Name all the sets of numbers to which each 3x-y+2z=-11

of the following belong:

a) —16 b) £ N,Wntlarp—\
35. A student answered a total of twenty
c) 0 d) s multiple choice and short answer questions

. on a quiz. Each multiple choice question was
e) % f) 7i El%“?&) worth 3 points and each short answer
2 question was worth 5 points. The s’rudenfg
26.  Solve: 16 :3‘*"3'}( x = ,i{'i w 525 scored 84 points on the quiz. How many of
- each type of question did the student

27.  Solve: 3[2x-1+4=19 . answer? | @& mtiple Chmes S ]
[X=-3, x=2] wd 1) st amswth S 7'g
28.  Solve: 3(2x - 8)=-5(x + 4) 36.  a.Write the equation for the graph below.

= H
29. Solve: -2|3x+2|-8>-
12 2 %23
30. Solve: 6x+1<19 an -3x+2<11
[ real vivmbers

3. The graph of y = x* - 3 is the graph of
y = x° shifted 3 units n )

32. Thegraphofy=|[x+5]|is the gmph of
= |x| shifted 5 units _|




37.  State the a. domain, b. range, c. type of
function (function family), d. x-intercept,
and e. y-intercept for the graph in #36.

Q/ 43.

w3 xg-p] k8,00 b.[4,.)
N = L Afw,ly'l’e, v alne~
38. a. Graph: f(x)=.3, -2<x<1 funth o
Wiy Bt A xe-Jadx=l
e. y==1\ (90,71)
b. Evaluate f(-7), f(8) and f(-1). 44
\-r("")"”f, £(0) =4 ‘{3(-1)@ :
39. Write the function for the following graph. 45
10 .
46.
| . —
=X "fﬂ, p &g 2 47 .
f(y)= -l1exs, 10
B 9 o
av%e 48
49.
8T
40.  Find the equation of the line of best fit 50
for the given data. ’
x |1 ]2]3]4]5 51.
42 | 38|35 |27 |22 52
41.  Write a system of inequalities for the 53.
graph below.
54.
B5.
W2 -b
Y £ IX+4 96,
57.
58.
59.
42.  Graph the system of inequalities. 60.
X+y <6
X~y 2 -3 61.
62.

Write the equafioﬁ?z graph below.

Factor completely: _ -6x%y? + 10xy’
i—L‘)l'U”(?)H— 5y 5 t

Factor completely: _3x“-x-2
(2x+Dx - V]
Graph. f(x)=-3x°+5

Graph. f(x) = %(x %

simplify:  (a'b®)@®’) = o b~ .
5.7 5
Simplify: ;’g; = %~
I-[
Y
Simplify:  (4m~n°p?q)?
|
Simplify: 53 =| 125
3" y) Xy _
Simplify: —(_%y_ﬁ— -
Simplify:

(3+2v5)6-3+5

Simplifyt_ﬁém%@ +648
VW2 + el

Simplify: (3 + Zr'i— Ii +77)

Simplify: (2-5/)(3+9/

Solve: 5x*+40=0[, = + 2.2

il s S
luat -3) f(x) = ——m
Evaluate f(-3) | (%) =
£-3)= 9
Determine thei =3x+b.

K

gl o0 = x5 ]
What is g(-3) if g(x) = x"+3x-57?

If f(x):xz—!and g(x) = x + 3, what is
g9(f(2))? ‘ 5(_((1)):(‘,

What is the inverse equation of

f(x)= (x - 3%+ 4? [




63.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

Given f(x) = 2x - 3 and g(x) = 2x% + 1, find 75.

fao). 13 200)= -

Are Y; & Y, inverse functions?
Explain your answer.

Y‘i ’_l j

L—H‘“"‘G
....... _f.-rf

76.

o

Find g(x) - f(x) given that

f(x) = 2x° - 3x + 5 and g(x) = 5x* - 7. -7

What type of function (function family) is
shown below?

...........
B

_io.._g 2 B P s,

Find f(g(x)) o= g(%(x)) hin 0= 84 2%
gx)=x-9 Gfu)= x?+2%x-9

£ (9 ()= x%-lbx+ 3
Solve: x*-12x-~85=0

CRs . el

Solve: 2x°+9
%=-% X>7

Solve: x*=27 TR
%>%3, X =03\
Solve: x?=16 Z

State the roots of the function below.

A

SF o |

If f(x)=x*~2and g (x) = x + 4,

what is g(f(6))? & (jF ()= BBX
8

State the vertex of: f(x) = (x + 6)° -
(~,-9)

78.

79.

State the vertex pi{gf(x) =x?+2x -1
T ;—1 ) |

Which of the equations below is shown by

[

uyx+3

L[x) fox)= M +%x—\_j@‘/ 43

- (x 3)2
d. y=(x-3)

What is the domain and range of the
graph shown below?

S E

Which equation best matches the graph?

a. f(x)= Jx+2+3
b. f(x)= Vx-2+3
¢. f(x)= Jx+3+2
(d) f(x)= Vx-3+2

What is the domain and range for the
function shown?

1 b: (-t0,t0)
¥ K.’\J \‘)




80. Find the roots of
f(x)= x*-2x*-4x%+23x-30
over the set of complex numbers.
82.
81.  Fill in the blanks for Frshierm ‘1)(%
f(x) = -(x* - 36)(2x - 5)(x + 6)* and
draw a sketch of its graph.
degree: _ S asxo-w
even or odd: vad fix) e
max turns: _"L as x 2> o
max x-int: S F(x)r-%
zeros at: ~p e~k ‘52- [
tangent at: n/&
terraceat: ® —
sign change chart
. "»"" . o ?,» ) e N . noo
i powrit (X1 ) WXl )L 2XD )| 4(X)
A -1 4+ | - - +
8 9 - | - = | -
e Hl o | -t & +
B T = + + ~
A

Y

Which could be the function for the
following graph?

a. f(x) = -(x - 3)(x + 2)°(x + B)(x - 6)
b. f(x)= (x - 3)(x + 2)3(x + 5)(x - 6)

f(x)= -(x - 3)(x + 2)%(x + 5)(x - 6)
d. f(x)= (x-3)(x+2)%x+5)x-6)




Ky

83. For the following equations, determine whether each

equation is a logarithmic function, a rational function,

an exponential function, a trigonometric function, or
a quadratic function.

C

a)y=x"+1 :

b)y = iogz MUM‘WC/
c)y- 3_xl WW\AQ,

d)y = 2% WIPMMJ«Q-’ ]

e}y = cos x ;f'Y{‘#JVY\Wh&fWO

84. State the term that describes the following
definitions:
a) A rational equation of the form y = kx.
Awek vauad iow

b) A rational equation of the form y = 5

NexrSe, Vartaon
c) A rational equation of the form z = kxy.
)( ot yvaxiah or-
d) A line that a curve approaches as you move away
from the origin. Mﬂmp'h’ te>
e) Point(s) where a curve crosses the x-axis,
x— |n"’€/\/c-c/?1'§-

85. In the polynomial x* - 2x® + 3x* + x - 5, state the
linear term, the quadratic term, the cubic.
term, and the constant term.

linear term: __X__ quadratic term: ?)X
cubic term: "2& constant term: _— 5

86. Solve: x*-12x-85=0
Al ¥ (09

Solution(s):

87. Solve: 2x°+9x=5

Az )

88. Solve: x3=27

aee #@9)

Solution(s): Solution(s):
89. Solve: x?=16 90. State the roots of the function below:
e
e+ @ \ I/ b ¥ @
S ¥
Solution(s):

Roots: x= "2 ) ')(-"[

91. Given f(x) = x*+2,
a) Find f(2)

b) Find f "(x)

c) What is the equation of the line over which
inverses are reflections of one another? gl” X

92. Are the functions below inverses? Why or why not?

lechens
aods e Uns
‘j % .




Key)

93. If f(x)=x°-2and g (x) = x + 4, what is g(f(6))? o =
94, Simplify: (_Ez LR S
por ¥ y2 3 3xy® Bub
x3 13 s X 3
95. Simplify: +Y2 y+X 96. Simplify: e o = ’-.{x +3 (x+2)
. - ol A i CxHO0HD) qu«n) ‘ Lt[x+l)(x+'{.)

D =[x | Tx+
(ﬁ*f}(% B”\w:.}:f L(qgﬂﬁ \"" Lt(x+i)(xm)
57, Simplity: x4+ L _ (0o | 3= _bn-3(ny)

X -4 o #4\ n-1 n+l Yn-1)

s )t P k (V\-H)H\’l) CYH"[ n
i i L ARE .fi:_ii.} - {,on":bn-r% ’3(/-1»/1)}'
X~ 4 e e (e dn-1) lgrDiln—1)
1- 2 X 100. Solve )(9 ¢ E) [f
99. Simplify: —2—9—5— - 10 x+1 5 n-1
e ot Axr)+ 20 = 2060
Ax+1+ 20 = ﬂwlf e
=1 —> (X=-5]
x= Y —
101. So \?é ?’ _9x+8 (%-H)x+1) =0 102. Find the equation of the parabola with a vertex at
\X+2 X+2 the point(2, 3) and that passes through the points

A+ fxm:w) 5%&8 (%= ‘*

(1, 5) and (4, 11).

E 2x2~“37t+ﬂ-

103. State the vertex of: f(x) = (x + 6)% ~

(-0,~8)

vertex:

104. State the vertex of : f(x) = x*+ 2x - 1.

pe #(15)
vertex:

105. What is the effect on the graph of the equation
y = 4x% when the equation is changed to y = 3x°?

} ,::/ ledn

£ _' o ¥
dhe gpoph 1 Comprered
wide ...

106. The table shows the grades earned by students on
a history test. Calculate the standard deviation of

the test scores. 1o = 10.18

72 |75 |94 64|75
88 |89 |63 |90 |78
89 | 84 | 83|97 | 100
78 |84 | 89 |95 | 93

3
107. What is the value of 22”1 ?
n=0

2
AL 2%4 gt

2+4 4 8+ 16 =

108. Which of the equations below is shown by the
graph?

y:-x2+3

d) y=(x-3)

a)y=x"+3
c) y=-(x-3)




Keky

109. State the function family name for each of the
following functions:

a) f0x)=2[x- 3] Jgeateat vites—
b) f0<)= -3|x+ 7| - 1_Alesoiute value

c) f(x)=3x%+5
d) fi(x)=2(3)"* 6?@7\%11)-&@/

110.

What is the maximum point of the graph of the
equation y = -2x% + 16x + 5?

&) 00= 2= 1 _Lupprual
111. Find the next term in the geometric sequence 112. Find the solution of ‘rhe system: x%+y®=25
- = 5 7 “"-, b iy
8 6 9 27 o r, % -E.F T2 'l,;l/;r;;; ;;/c f//A',l‘ 4 9Y 4)(
2' 8" : —Jc\®_.,_
21.3 =Te) de. S ~3,15,-5,25)
% 4 |35 | (575,675

(%,u)

113. Suppose y varies inversely as x. If x = 9 when
y = 5. Find y when x = -3.

114,

e e S|
Suppose y varies directlyas x. Ify=15 when ~' "7
x = 3. Find y when x = 11,

b - Y= ko y=5%
_E = us B 5= k@3) y=5)
) qus ’ - 1 alls

115. Suppose y varies jointly as x and z. If z= 34
when x = 17 and y = 2, find z when x = 4 and

y=8  2=px gz=
1<L12)(2) %;q.«g

K=
752

116.

What is the domain and range of the function
shown? [~

domain: _X Z 3ad 220) range: 1 Z Dox tljw)

117. Solve: 472 =16>1

118.

Solve: (1] =3x+2
3

(/L )z(nﬂx) L (ﬁ-}(‘uﬂ"l) (3_\)‘”: 2 —

\Yx+ 4t = X4 = X+2
bx =-8 —2%x+2

Xy )

119. Evaluate: logzsb
2
A

({2_5:=25"

)

120. Solve: log,l6 =2

X>= g

(x=4)




121. Solve: log (x* + 4x) = log 21 122. Find an approximate value for x: log 4.1 = x
bR e
X2 tx -2 =O X =3 *®= 0.4
(X +IXx-3) =0

123. Solve: logrx= L logy 64 e

%qx i V@%q\ﬂ%

x+1)?* =
/Jwb”'( ) X41=U  X41=u

(e =gt P /‘E?J i

125. Find an approximate value for x: log x = 7.2

B
x= 1ssu893142. |

X417

12%»%50'\’5;‘2)(1%7’:* ( ’1" -M%Q—
il 'x(uzp wp) =2

- oy s o)

xpr 4 Vo= X gyl

127. Fill in the blank: 97 is the ¢ g E‘rer‘m of the
arithmetic sequence -3,1,5,9, .
an Q + (V\ i)d A= 4
q7:»3+(m*')‘f 1o = 4n
q71=-2+ un-4 n= 20

128. Find the sum of the arithmetic series descr'él:c;ed
A a 30 h=20-141%
l\ 2,(“;" ﬂ) Zzn_l Qa, = Q_L‘)-l =1

2 (), 0= LB = 59

Sg= 15(e0)

129. Use sigma notation to express the series

130. Express 200° in radians.

6~ 12+ 24 - 48 + 96, 0.=ar"! 200° ., TV T
B K- o)™ e = |2
? ©(-2)
L= 202
181, Express % — Wﬂ/ _Leﬁﬁ‘ 132. TWh;gois:he least positive angle that is coterminal
e 0 -500° 7
e 1_,_7_?; te = (220°

2%0° | e

133. What is the value of cos [%EJ ? NES

134. What is the value of ¢sc ( -300%) 2
| =1 S (“3900

T e = 1
e il 7 : sm-a® £ ety
135. What is the value of Cos™ (-1) ? 136. Find the length of the longest side of a triangle
CUS:B':' .wifh ZA=30°, /B=70°anda=5.

M _sm® = S gm0’

o et 2 e

= b _Ti.im_%o ‘

o= G4
137. Which function is graphed below? 138. For the following functions, determine whether
: each function is a trigonometric function, an
9 = 0% inverse frigonometric function, or a reciprocal
trigonometric function.

/\
VIRV

a)y = arcsin X AT “‘}’Yi\h ';’Wn[,'he‘“-

b)y = sinx __“yif downction
)y = cse x Y'ECI{JM’IY(L #Wh&hﬁ"/

139. Find the roots of f(x) = x*-2x3-4x?+23x - 30 over' the set of complex number's

4ot
9 veal

3(5

L 3 50
) g it & o
s 8 : @“’ b

.-al -7 4 41?7 - 30
¢ —

&) %" 6x+5 o)
S
$x = 3 90 - ?>+q~n
2(-3

S -

p RS

-
s TR

lx=-2% ufﬁ
L




0% - %.[1:%+(\2~w)+w'] “2\3%-#?-(“&?“730

- Ble £(-2) +e]
w— 22+ 0) 2|x+2| > - 21
e —3(%) t%m—l) 2
¢ -7 = = -l < 2x+2 <1l
- ® (3 lj)ai 2+° > y=-5,1=-9 -13 < X4
1 (5’(f6)) ¥ 2 (=9 T’,_lgz < X< ?ﬂ\
| (_ &% 3) 4+ 2(2%) @ 2
( 7—) — <0 (DXZOL‘JQ anth ‘5:)(--\*?5“
~p-z0 =[- 28 | & -3x< 9
\Wb = %+ 2’—&;{
5
3= 2
5
5 e Boxrng
(= 2 a(H{x ~oy ="13) 8x -0
%= 4 3 dy=1
\'Ix "l7
6D 3|l |+ 4=\ 4
3|2x+1] =15 5(,,3,‘/)%:3 i -
\ox+1) =2 ij; Sl
Ax+1 = -5 Q}H—tf:‘% @ Lole Mol P S |
1=~ ax= Y= Shevt anFwer 2
W-.’é - 1’- l | Ix'.f\ﬁ - 00 -\j" —X+ 20
@ 5(3’4’8) '6(0(-%#) 2 x4 aﬂa@’—f
X -t = -5% - 20 % (- x4+20) 297 Ut
HX = "'l' ~ By +0 «}ngf«'@‘-f
%=\ 2y = ?{f
| -

L 6 2720 [ @b, hoe "‘z
=B (W [ Suert afmﬂf/?’i




@ -3 ,5.2
( Um>n p"‘é) © G0

- b -0 -4 ©
Lt -% E(X’Z.\.g) =D
x>+ =0
(X8 = s

-z _ 4 3 WL@

9
ng"%_g 3 ‘F(K) X +Q§u;9“
“2 My ) DHx4 |
Sad i) F (), (P4202) S
axglﬂﬂ; (-3 )+ |
?)_2 %o [ﬁ Ol—._‘m(iﬁ:%:
M;i 7}63 3:‘? 44
T < -2 .y
> ~? 4
9n? .
g [fe=4]
g B )3
19X | ED Frne 35 -5
@ (3 +205) (- 3V%) O
19 "GN’%Jr 13—\}‘/‘5 - 30 <= 3\0_5
{"12 +?ﬁ\i—53? jxj:x%cgrﬂ
————— YT SR
@ ‘t\@'# 5( 2=+ AF e 1M3f_~§"
(73 + 3R ~2EEad G2 £00Y ‘W%
e 2 Qrwg 9 . o
H.3{=a ¥ 2(\[——:——0\( {jﬁwz 6(5)%« (X)EX*%XB—
lSNl 4+ biv —INT 12 @("6) 3)3 il

RLMN/Jf 4,('
0 (2-50) C?J-}rolt)

b + \‘bua —450




© {(x)zxzeljﬂtx)=mb

fy=2-175
biz) =9

g () =9 (3) =3¥3
@G(z)‘)” (o

. @ Fo0= (X3 r4
x = (y=2)+d

F/Xéi "\IW”%)
x4 T Y3
y« \r"'ul ‘}g}

@ £00= %3 @(x) B

Fgt)) = £(2C+)
o () 73
g g =9
= 2
AN 5-6-(74}) x|

O Hx):‘x2+2x f\(x):’X“ﬁ
Kﬂ‘}ﬁw—ziﬁ(”ﬁ}

. X?-{E‘)X_\,%‘%’ZX !%
X -wwﬂﬁ

fia) = £ ()~

[£qw) = **
2 (£00) = q(x +9x)
LCy (Hxﬁ X7*?X 0}}

1 x”— 12X - Q5 =

woe calc +o ’EV\OL 2495

@ AX> 49x -5 =0
(;x-l)(‘ma

K = ‘;(; )X“’«-

0 -1 = x>-:=0
(%-2)(x*y 3x +4) =0
@ X2 +2x+9=0

X= -3 W‘AM(&D
T2y
X= o 27

@ ‘@(ﬂw))
£X)=XT plx)=xry
fw)= %2 = %
oy (FL0)) = o (9H)

g (£10))= Cahiel
4;(—?(@)) 25

) Ped= Prrx—]
N




gy 7y
- =2 024 -9
a o et o
a?—-

@ (& fﬂl# 25

= Hyd w3 x 4 = 4 .
Aq = A& —> =& =Y

L%. {ﬁ -+ V?""w e‘%g“‘x@.
ZY*Y ")

A+ f«?‘f = 10O
iﬂ 4 *}iﬁ
LAty An— 10D = O
iij i ?i::; L

9::@,zg (cate.)

\lj :‘.LI




